Global alignment
Match = 2
Mismatch or insertion = -1
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g - -2 1 1" 0 -1~ -2
al -3 0 3™ 3. 2 1
t -4 -1 2 2[™ 5 4
cl -5 -2 1 1] T4 4
tf -6/ -3 0 0  3~6
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Score= (4*2)+(2*-1)=6




Global alignment

Match = 2

Mismatch or insertion = -1
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Score=(4*2)+(2*-1)=6




Ends-free alignment
Match = 2
Mismatch or insertion = -1
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Score=(3*2)+(6*-1)=0




Local alignment
Match = 2

Mismatch or insertion = -1
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g 0 ~2_ 1. 0. 0. 0
g 0.2, 1. 0. 0.0
a - 0 1. 4, 3 2 1
tt 0o o @ 3 3w 5. 4
c 0 -0 2 2/ a4 4
a 0 . 0. 2. 4 3.3
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Score=(3*2)+(1*-1)=5




